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WORLD REGIONAL GEOGRAPHY–I

(Semester–V)

Time : Three Hours] [Maximum Marks : 45

Note : Attempt two questions each from Section A & B carrying

7½ marks each and the entire Section C consisting of

5 short answer type questions carrying 3 marks

each.

SECTION—A

I. Explain the physiographic features of North America in

detail. 7.5

II. Define Urbanization. Also explain the urbanization pattern

in Europe. (3+4.5=7.5)

III. Explain the importance of power resource. Discuss the

distribution of coal in South America. (4+3.5=7.5)
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IV. What is importance of Gold for any country? Discuss the

production and distribution of Gold of South America.

(3.5+4=7.5)

SECTION—B

V. Describe the iron and steel industry of North America.

7.5

VI. Produce the conditions necessary for cultivation of wheat.

Give an account of distribution and production of wheat in

North America. (4+3.5=7.5)

VII. Discuss the characteristics of Industries of Europe. 7.5

VIII. Fill the centers on the Map of North America (Any Five):

(i) Texas.

(ii) Florida.

(iii) Washington DC.

(iv) Richmond.

(v) New York.

(vi) Mississippi River.

(vii) Lake Superior. (1.5×5=7.5)
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SECTION—C

(Compulsory Question)

IX. Write short notes on the following :

1. Western Costal countries of South America.

2. Prairies.

3. Red Indians.

4. Types of Coal.

5. Types of Cotton. 5×3=15
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PUNJABI VERSION

not : Bwg A Aqy B ivcoN do-do pRSn kro[ hryk pRSn dy
7½ AMk hn[ Bwg C swrw kro[ ies ivc 5 sMKyp au~qr
vwly pRSn 3-3 AMkW dy hn[

Bwg—A

I. au~qrI AmrIkw nUM Drwql dy Anuswr v`K-v`K BwgW ivc
vMfdy hoey auhnW bwry ivsQwr nwl ilKo[ 7.5

II. SihrIkrn nUM pirBwiSq kro[ XUrp dy SihrIkrn pYtrn
dI vI ivAwiKAw kro[ 3+4.5=7.5

III. SkqI dy swDnW qoN kI Bwv hY? d`KxI AmrIkw ivc koly
dI vMf dI ivAwiKAw kro[ 4+3.5=7.5

IV. iksy vI dyS leI sony dI kI mh`qqw hY? d`KxI AmrIkw
ivc sony dy auqpwdn Aqy vMf dI ivAwiKAw kro[

3.5+4=7.5

Bwg—B

V. au~qrI AmrIkw dy lohw Aqy iespwq audXog qy not
ilKo[ 7.5
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VI. kxk dI KyqI leI loVINdI hwlwqW kI hn? au~qrI

AmrIkw dy kxk dy auqpwdn Aqy vMf bwry vI ivsQwr

nwl ilKo[ 4+3.5=7.5

VII. XUrp dy audXogW dIAW pRmu`K ivSySqwvW aupr not

ilKo[ 7.5

VIII. au~qrI AmrIkw dy nkSy ivc hyT ilKy koeI pMj kyNdr

drSwE :

(i) tYksws[

(ii) PlorIfw[

(iii) vwisMgtn fI.sI.[

(iv) ircmONf[

(v) inaU Xwrk[

(vi) imsIispI dirAw[

(vii) supIrIAr JIl[ 1.5×5=7.5
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Bwg—C

(lwzmI pRSn)

IX. hyT iliKAW 'qy sMKyp not ilKo :

1. d`KxI AmrIkw dy p`CmI q`t qy vsy dySW dy nW
ilKo[

2. pRyrIj[

3. rY~f ieMfIAnj[

4. koly dIAW iksmW[

5. kpwh dIAW iksmW[ 5×3=15

——————


